g )3 (;80)8 § (539)9 — @9 (Suwnls

LT La)gluws 335)5 51y @g) ) asLaiwl g Alwgy )s (508 § (539)9 Caspas Ly amlds ol ys

d3(8 )3 1y Lo)95uws (,80)3 01936 A9 3935 (W)l § 3335 gslail |y 1j (sloygSuws

330000,

NEV.N)

$ echo "Message 1" >mesg.txt
$ cat mesg.txt

$ seq 7 >mesg.txt

$ cat mesg.txt

$ date >>mesg.txt

$ echo "Message 2" >>mesg.txt
$ cat mesg.txt

> 0 J3lé Gy )oTws B3 (80)8 O30Y

>> 0 L slel  89)8 O3)5 adlol

3198 D6 )l Ol 13 1) Loygsuws (539)9 P
$ sort (3303 LB 1y D) )15 buwg3 o3 3)lg (slaba (5jlwdys
$ sort <mesg.txt o3 paAis a6 ) (539)9 O33lgh
$ sort <mesg.txt >out.txt 10 8 @ ;8g)d O3HGY § 3L il (539)g OH3dlgh
0)5 03l gy )s 3Bw)s (53503 )93ws @ 539)9 Hlode @ 1) )oTws By ,80)d OlgSs W

soibg0 eladl (Pipe) ay)



$ seq 7 Gda GGy slacl ols
$ seq 7 | wc (WC yo3ws b) gy g laasls daba slaad gbylis
$ seq 7 | tac (tac yoiws ) uusc LW5P L bbbs Ol
$ seq 7 | head -n2 (head jo5uws L) Jol b gy QLo
$ seq 7 | tail -n3 (tail yo3ums L) )AT b g5 Lilo
$ seq 7 | shuf (shuf yo3ws 0) ;83003 Sy W labd LU3)S PaES
$ seq 7 | tee copy.txt tee @ asb a3ly J3l6 @ (15 Sy BING) § (8015 Lo
)l @5 () ys )y test.bxt BB (e l5 suby ol slp
$ echo "Test file" >test.txt Ja3(d G @ b (sslaad g

$ echo "Line two" >>test.txt

$ echo "Line three" >>test.txt

$ echo "Line four" >>test.txt

$ echo "Test file" >>test.txt

$ cat test.txt

$ cat test.txt >copy.txt Jol J3lé 035 (35 dslas

)5 padiiis JSb 338 @ 1) 539)9 J38 01630 La)giws j 5)lamy )

$ grep "two" <test.txt two sasls Jalib slaba giulad
$ cat test.txt | grep "two" cat yglws jl a3aTwl
$ grep "two" test.txt Byl Olgic @y Laygiuws )l A1 (539)9 sladils paas

gllbl b )9 3ws ) 3)08 )3 21005 I . 3db38 el Llac as B slo)giws 335 )P

Suled aaslys 01 slaisly sassv a3 3131g3¢,8 O slayislyl il



$ unigq <test.txt @ 1w QU (5)1)53 (Sloba bia

$ sort <test.txt | uniq S3gi,» o3la3wl sort slyas unig Vg.aes o
$ tr ie KM <test.txt 1025 W s Jasad
$ sed "s/Line/Test/g" <test.txt 10 Oybe @ OYbe Gy (slaslsd) paes
$ sed "/Line/d" <test.txt Oy)be Ay Jalid slaba sasn dis
$ fmt <test.txt 0)lo3s slad)ShB )s easls Hsls s
$ nl <test.txt ba (so)lad ()3)5 ad Lol
$ hexdump <test.txt 03130H (sGuas gulad

ol 5)(5 an § sl LS5 e b loygSuws 1o ) sloba jl G jo )s 83 331003

BNV

$ seq 20 | shuf | head -n1
$ grep "Line" test.txt | wc -1
$ cat test.txt | sort | unig | wc -1

b slasl oslab saali G 335 sl g C18L)s 1y oslab.sh Jslé pj slaygimws L

$ wget http://web.nit.ac.ir/~gholamirudi/oslab.sh
$ sh oslab.sh

-3335¢,0 slaal grep jplws )B8) )s (1G5 as o3 o3y Slayial)b 3335 )P

$ grep -r "follow" oslab/ (Recursive) 35)b C)g0 3 galma
$ grep -r -1 "follow" oslab/ B)a (50)1331 (38)5 1) )5 )93 G3lb3
$ grep -r -h "follow" oslab/ b6 oL Wis
$ grep -r -1 "follow" oslab/ la sl Cuwpgsd sl Hld

\'s



13 1) H)Lc as ) 3wy .3)5 39388 1) galma lg3¢,» find g grep (sla)glws CuSH b

03350 )5 Guw)s 18 § 335,06 ga3ms (laJls as

3¢

$ grep "malloc" ‘find oslab/ -name ’*.c

13 1y 333w recomp Oylac Jalid a5 (ladald Ciwpgd 3335 slaol |y ~/ex2 sadly

gy ~/ex2/recomp.txt Qe

gl ~/ex2/log.txt Jals ys |y oslab/doc/log.txt Julé 1Q° G lo° slaba
a4y ~/ g 308 )3 1) g )

J—6 ) 1y .c agmy Ly slad—316 s #include J—slib j3lsis sloba sa_so

215 awlas 1y (371 slaed § samugls ~/ex2/include.txt

I



